ST UDY OCENTRE
PERCENTAGE- Assignment

1. 0.08% is equall to
0.08% @& aiwmeais
a o p 281 d. 22

125 100 1250 1000

2. 28% of 450 + 45% of 280
a. 156 b. 255 c. 358 d. 252

3. 2is what percent of 50?
5060 2 61 FHAIHLD 6161616167
a.2% b. 25% c.4% d. 125%

4.  What percent of 6.5 litres is 130 ml?
6.5 eIl Lifled 130 10.60 ulelr FmHaisbd

a.2% b. 20% c. 50% d. 5%

5. 63% 3§of is
a.2.25 b. 2.40 c. 250 d.2.75

6. 270 Candidates appeared for an examination, of which 252 passed. The pass
percentage is:
270 Guit e Caitaled 252 Guit CxHTFd GuBMeT. eelled BHT&FS FoHaisbd?
a. 80% b.83 1 % c. 90 2% d.93 22 %

7. 1f35% of a number is 175, then what percent of 175 is that number?
a.35% b. 65% c. 280% d. none of these
Qb etemiewilesr 35% etaiugl 175 erafled SbF erewr 175 60 ereileuene| FHaiHb?
a. 35% b. 65% c. 280% d. @meu eHIN0MED

8. How many litres of pure acid are there in 8 litres of 20% solution?
860 smevemauufled 20% 2o eiten Hmw oflevd 2 6TenGGeiley, SIfvGHHe Sl6na]?
a.1.4 b.1.5 c.1.6 d.2.4
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10.

11.

12.

13.

14.

15.

0.15% of 33 % % of Rs. 10000 is
epurut 1000060 0.15% wmmid 33 % % el6leu66)?
a. Rs. 0.05 b.Rs. 5 c. Rs. 105 d. Rs. 150

Meenu spends Rs. 2,000 from her salary for recreation which is 5% of her salary.
what is her salary?

Weorm  eteieu epumut 2,000 g Qumupg GursdBars Ogewe] QFUIADBIT. @a Sieufler
FouenbHeT 5% G 6Ielled DIUHEDLUI FIDLIGTD 616161616 ?

a. 10000 b. 4000 c. 100 d. 40000

If 15% of 40 is greater than 25% of a number by 2, then the number is:
40 &1 15% e@iug @m cavewiat 25% spaissms ol 2 oFHsb called Qb  elem
61601601 ?

a.12 b. 16 c.24 d. 32

subtracting 40% of a number from the number, we get the result as 30. The number
is:

Q0 aTawianlelBhe Obd cenieniar 40% m sfGHT0 S sG eewt 30 a@iled b
6T600T 616016017

a.28 b. 50 c.52 d. 70

The sum of two numbers % is of the first number. The second number is what

percent of the first?
B  eTeiHeMel  gnHH6v % IDLBIG (PSH6L 6CTeNIGmIT@GHID, 616060 ET6WILToUFH 61601  (LPFH6L

6T6uTemI60  6T611616TTeY | FHOTHLD?
a.12% b. 14% c.16% d. 18%

Two number A and B are such that the sum of 5% of A and 4% of B is two-third of
the sum of 6% of A and 8% of B. Find the ratio of A : B.

B eemise (epBu A, B ey@w. A eewienier 5% wmmib B erewienien 4% @Seumnsent
FImBH0 i Aet 6% wBmid Beir 8% gmBsHelen % L BIABGHF Fwb eefled A : B
&l al&FHLD

a.2:3 b.1:1 c.3:4 d.4:3

A student has to obtain 33% of the total marks to pass. He got 125 marks and failed
by 40 marks. The maximum marks are :

33% waLOueE saug CHTFSH ouGb. Teweua @heus, 125 HAICOUEHIHET 6IBSHH
40 v HUQUmIHET GmBauTs CUBBFHTEL Camebalemw  HapalemT eefled  SHIHBLLF
LOGHIIGILIGHT 6T6ll6M6TT6Y?

a. 300 b. 500 c. 800 d. 1000
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16.

17.

18.

19.

20.

21.

22.

(APR& 11|

The population of a village is 32,000. 40% of them are men, 25% of them are women
and rest are children find the number of children?

QM BBEIHHO 2 ellen  1DHHeT OFHTews ap 32,000 40% syewimer 25%  QLewTIS6I
B (LPITETEUTHGT GHLHMSHH6T 616360 DIMIGH6ITEN  GLHENSHBHEN 60T 6163160018560 ?

a. 11200 b. 12800 c. 8000 d. 20,800

Iniyan bought 5 dozen eggs. Out of that 5 dozen eggs, 10 eggs are rotten. Express the

number of good eggs as percentage.
el 5 Ll  (PLeOLFSm6T  eUTHISeTT. DiHed 10 (pLenL &6  Gsl Ball L6l
BHp6iTen [HeL60 (L emLullell FHaigb?

a. 87 %% b. 83 %% c. 50% d. 80%

The price of a house is decreased from rupees fifteen lakhs to Rupees Twelve lakhs.
find the percentage decrease?

Qm of el almwev ¢ 15 el gFhHev BDHHH 12 DL FOTH  (GHOBHMSEH 6160160
GT616U6NT6Y FHAHID GHOMbHAH B(HBEGHWD?

a.30% b. 20% c.12% d. 3%

The weights of two chemical substances are 20.34 g and 18.78 g. Write the difference

in percentage.

B CeuduGum bl Hefler eTewL &6 (PedBGW 20.34 & 1BmIbd 18.78 Hymbd  etedfled  E(H
Gouglll QuUThHEDHGW BMLCW el FHAIHHLD.

a. 83.33% b. 156 % c.87.5% d. 80%

Kayal scored 225 marks out of 500 in revision test 1 and 265 out of 500 marks in

revision test 2. Find the percentage of increase in her score.

&Wev eraileUT 500 &@& 225 W HUOUmHeT (pHev  HpUUHeo CHiTaled  OQLIBMTENT.
@rewiLmougdl SHpiypeo Gpitaled 500 &G 265 HICLHIH6T GUBBTT 6leled  Sjeuflen
GO SIS 6T6l6l6NT6] FHAHD DIFHBTHHI6TeNSHI?

a.10% b. 8% c. 12% d. 17%%

15 sweets are divided between sharath and Bharath, so that they 20% and 80% of
them respectively. Find the number of sweets got by each.

15 @eallysmenr FIHIBGL LUFSHHBGWL URHL (G CaThsGd Burdl 78 a8ILIHES
20%-b, ugsd ererauBHBG 80%-1b FHmLHPHTe0 BHAUBSGHID HemlGHFH @eflliseTn (penpGul

a.3,12 b. 4,11 c.6,9 d.5,10

The tax in a restaurant is 15% of your total bill. A family of 6 members paid a bill of
Rs. 750. What is the tax for thier bill amount?

a.114.25 Rs b. 112.25 Rs c. 67.50 Rs d. none of these

RMH 2 _awasHHo  aumgdsmaswtentaefLmbas @@  géfaisd  eflwrs  1.5%
AUMRISLILGSHBE. @H GSBHLUSH60 o 6ifenm 6 HUTH6T h 750 &8 §FHTE SLIQITED, DibHD
TERHHG elelalene) OHTend DleuTHeT aufl CETHHH SHLILITTEH6T?

a.114.25 Rs b. 112.25 Rs c. 67.50 Rs d. @mal aHIa|Oe0m6D
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23.

24.

25.

(APR& 11|

CHENNAI

Three candidates A, B and C is a 3 school election got 153, 245 and 102 votes
respectively, the percentage of votes for the winner is

cwem Ceulumeniiser (wemp@w A, B, C ueteils Gaismedsd 153, 245 102  eurd@smei
QumBmentT. elefled Geoumpsl CuBB eurdhaTenilen aTHGHalar FHAIHLD?

a. 48% b. 49% c. 50% d. 45%

A fruit vendor bought some mangoes of which 10% were rotten. He sold 33 % % of

the rest. Find the total number of mangoes bought by him initially, if he still has 240
mangoes with him.

o upalwrurf  Fev  wmbLpkIBmeT eumhIdemT. SeuBpled 10% wmbuwEiseT sl (B
ol Leor. 5g(eiTemeumnsieo 33% % OTDUPEISET ST alBBrT elefled, QTHBLONES Dieul

QUTHRISIW  LombLIPEIG6eT6 elemienlbend? HBOUTH Sjeuflib 240 OTIDLIPHIEET 2 6iTerTe.

a. 380 b. 800 c. 360 d. 400

35% of A is equall to the 45% of B. The difference between A and B is 186, then 40%
of the sum of A and B?

A a1 35 szeizb eeaiug B et 45 seeisdBeF gFwb. A oBpibd B e maE
BB syt alsHuwinFid 186 eailed A wBmid B &1 am@Hedar 40% ereuaiene,?
a.562.4 b. 548.6 c. 595.2 d.532.2

PERCENTAGES Assignment - ANSWER

1 2 |3 | 4|5 6 7 18 19 |10
c D C| A A D D C B D
11 (12 13 | 14 | 15 | 16 | 17 | 18 | 19 | 20
B B A D B A B |B| B | B
21 | 22 | 23 | 24 | 25

A D | B | D|C
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